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5A. 2X=E2E 14,000|14 A 5000 9,000
6A. 2REEBLHE 3,000{3 A 2000 1,000
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7A. Hse 12,000[/"AMEE, 298 #RA 2000| 10,000
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4/4 ErE(ER) 3,000| &5 kTR 3,000
4/4 EREIRIR 1,500 aB 1,500
4/15 A F okt 330 330
4/25 BRI 900|25 H & HHL 900
4/25 BEN 5,000 {4 LY 5,000
4/25 HHEZECEHBN 1,000 1,000
4/25 ZRIENRIF 13,574 13,574
4/25 £EEET 5 VBIMMRIN 7,610 7,610
5/4 RAF R 100 100
6/1 £EEET 5 VBMMRIN 7,610 7,610
6/7 6A27THEBR 22,000|K#EIL, BLEER, MESALETE 22,000
6/27 6827 HEEIBMR 2,200 | #A1 A 2,200
7/13 R 10,0006 B27THRE S A LFET . TAIRSREANEE 10,000
7/13 IRAF R 100 100
7/17 BEN 470|#15330M, Y1F5140M, R\ 5000 470
8/2 FHA R 10,000 b awE, F7. /RUKE 10,000
8/5 BER (RILLY) 10,000 10,000
8/5 2K /R Y BEENRI 10,978 10,978
9/13 B 9,861 |EBfE : 9240, 7 : 621 9,861
9/13 OEEHE -10,000 | 10,000
10/8 BER (RILL) BRY -10,000 -10,000
= B 131,609 89,079 | 42,530
iz = 29,644 18,174 11,470




